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(EHR1: %)

EYAEZEZFYL}
=S R A A 0.22 0.77 231 2.32
H| D X| 2= (k| OF ) -0.02 3.01 419 4.04
(H|X|£= CHH| A1p) (0.24) (-2.25) (-1.88) (-1.72)

S F(Class)d gt

A -0.06 0.21 147 1.20
(H|X|£= CHH| A1) (-0.04) (-2.80) (-2.72) (-2.84)
C -0.11 0.11 131 1.00
(H|X|£= CHH| AP (-0.09) (-2.90) (-2.87) (-3.04)
Ce -0.05 0.23 1.50 1.24
(H|X|£= CHH| AP (-0.03) (-2.78) (-2.69) (-2.80)
w 0.09 0.51 1.92 1.81
(H|X|£= CHH| AP (0.11) (-2.50) (-2.26) (-2.23)
I 0.09 0.50 1.90 1.78
(H|X|£= CHH| AP (0.10) (-2.52) (-2.29) (-2.26)
Cp -0.06 0.21 147 121
(H|X|£= CHH| AP (-0.04) (-2.80) (-2.72) (-2.83)
Cp-E 0.11 0.59 2.06 1.88
(H|X|£= CHH| AP (0.12) (-2.43) (-2.13) (-2.15)
Cp2 -0.06 0.20 1.45 1.18
(H|X|£= CHH| AP (-0.05) (-2.81) (-2.74) (-2.85)
H| K| 2= (k| OF ) -0.02 3.01 419 4.04

=) H|mA|2=(HX|OF3) : KOSPI 20% + KISZZ X 01-02Y 70% + CALL 10%

X A7|0| £OlE2 MAHO| 2EAMMO

=

2 0j2o| MutE =73t

= 7o opn ¢ HEE £8

i Al

22AMx0| THatE £ QISL|CL

T2 ZZ1d 2 2d 2 34 %2 54
EYAEZZFYL}
SASR A A 2.32 6.88 10.70 21.10
H| I X 2= (3 X| OF3) 4.04 6.52 833 15.55
(H| X2 CHH| Al (-1.72) (0.36) (2.36) (5.55)
&7 (Class) 8 3%

A 1.20 455 7.10 14.62
(H| X2~ CHH| A1 (-2.84) (-1.96) (-1.23) (-0.93)
C 1.00 414 6.46 13.48
(H| X2~ CHH| A1 (-3.04) (-2.38) (-1.87) (-2.07)
Ce 1.24 464 7.23 14.94
(H| X2~ CHH| A1 (-2.80) (-1.88) (-1.10) (-0.61)
w 1.81 5.82 9.04 -
(H| x| == CHH| 2t (-2.23) (-0.70) (0.71) -
I 1.78 3.86 481 -
(H| x| == CHH| 2t (-2.26) (-2.66) (-3.53) -
Cp 1.21 - - -
(H| x| == CHH| 2t (-2.83) - - -
Cp-E 1.88 - - -
(H| x| == CHH| 2t (-2.15) - - -
Cp2 1.18 - - -
(H| x| == CHH| 2t (-2.85) - - -
H| T K| 2= (3 £| OF3) 4.04 6.52 8.33 15.55

Z5) H|WA|2=(HX|0F2) : KOSPI 20% + KISZZ A 01-02Y 70% + CALL 10%
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1 x| 2 £0+0164-1908-02 19.44 6 e £0+Z#0158-1906-0200 574
2 P £0+0133-1810-02 17.75 7 e = 101500-1906(16-2) 5.07
3 N E0t0164-1902-02 13.54 8 X2 & Q+0125-1808-02 4.39
4 xH £010160-1904-02 7.03 9 A & ©£0145-1806-02 423
5 TIINE REPOD}4=(20170908) 6.76 10 CHIINE REPOON %=(20170908) 3.38

HETE M SRR LSS 3BEAHS] HABAMOES] HE 27|Funi X ZA4=INE B1std 4 USLCHEHAFA
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(CHS) : e arel, %)
=22 Sl 7Lol "It w7t £3} E Mol HBI|E ME8SE  HS
£010164-1908-02 23,000 23,021 Cystol=z KRW | 2017-08-02 | 2019-08-02 RF 19.44
£010133-1810-02 21,000 21,016 tfstol=z KRW | 2016-10-02 | 2018-10-02 RF 17.75
£010164-1902-02 16,000 16,038 Cfstol=z KRW | 2017-02-02 | 2019-02-02 RF 13.54
£010160-1904-02 8,300 8,321 tfstol=z KRW | 2017-04-02 | 2019-04-02 RF 7.03
£90r330158-1906-0200 6,800 6,792 tfstol=z KRW | 2017-06-02 | 2019-06-02 RF 5.74
= 1101500-1906(16-2) 6,000 6,006 tfstol=z KRW | 2016-06-10 | 2019-06-10 RF 5.07
£90H0125-1808-02 5,200 5,197 CHstal= KRW | 2016-08-02 | 2018-08-02 RF 4.39
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F) EXCHA 49 10558 % BIHZHO| XSO 5%E Xt AR 7MY
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(Bl - =, Wk, %)
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REPOD 4= NHEXISH 2017-09-08 8,001 135 thstol= KRW
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HEZ$
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[ |

7|2t 28HZol b3
2014.02.10 - 2014.09.24 HasE
2014.02.10 - 2016.10.04 4zl T4
2016.10.05 - S| (o] f=xe:!
2014.08.29 - S| BMS
2017.07.27 - ¥ X FIXY Al e
2017.07.27 - Six| Mg

) 2017. 9 7|7 Y #XY 7|F 37 HAY

o

5. H| 8812

o

o M| 2|
TE 2 H| & 2 H| &
INENEEEON, 0 0.00 0 0.00
THOR 2| A 0 0.00 0 0.00
HEXY o 2| AHA EF I XY) 0 0.00 0 0.00
LHEALR 22| 2| A 0 0.00 0 0.00
e moxmor RS 0 0.00 0 0.00
= Ll 1
_E_“"ETEi 7| EfH| 8%+ 3 0.00 2 0.00
SHEXRAERHEE]
Che0i0l.B7H =8 4 0.00 3 0.00
oy of.
ZMNBEMYR S
=) *‘|L|* by 3 0.00 2 0.00
S48 —
A 7 0.00 5 0.00
SHHAEA 6 0.00 12 0.01
KFAFS R A 18 0.12 14 0.12
O 3| AL 22 0.15 18 0.15
T XY A ZES| AH(A EFOIXE 1 0.00 0 0.00
QUHIAFR THE| S| A} 1 0.00 0 0.00
EES 41 0.28 34 0.28
A 7| EtH| 8** 0 0.00 0 0.00
ChaOjof. S 42 0 0.00 0 0.00
A EENEY e
=) N 0 0.00 0 0.00
angm MH| A =8
A 1 0.00 0 0.00
SHAEA 0 0.00 1 0.01
KA S A} 157 0.12 114 0.12
Oy | A 267 0.20 194 0.20
HE XA 2 S| AHA EFRXL 5 0.00 4 0.00
LHEALR 22| 3| A 5 0.00 4 0.00
23 434 0.33 316 0.33
C 7| EtH| 2+ 3 0.00 2 0.00
Cte=0jol. B2 =8 3 0.00 2 0.00
i VYT
=74 = © 2 0.00 2 0.00
ME|A 242
TR —
A 5 0.00 4 0.00
SHAEAM 4 0.00 8 0.01




- 7| 27|
TE 2o H| & 2o H &
KAt AL 1 0.12 1 0.12
oY S| A 1 0.14 1 0.14
HEXH AR 2 AL EF IR 0 0.00 0 0.00
UHEALR 22| 3| A 0 0.00 0 0.00
HBH 3 0.27 2 0.27
7| EtH|8** 0 0.00 0 0.00
Claojo). S74p48 0 0.00 0 0.00
il VYT
=) MU~ Az 0 0.00 0 0.00
P qH| & ==
T T —
A 0 0.00 0 0.00
SHARAM 0 0.00 0 0.01
INENESEON, 4 0.12 4 0.12
THOR 2| A 0 0.00 0 0.00
HEX o 2| AHA EF I XY) 0 0.00 0 0.00
LHEALR 22| 3| A 0 0.00 0 0.00
2o 4 0.13 4 0.13
7| EFH| &% 0 0.00 0 0.00
Che0i0l. 570 =5 0 0.00 0 0.00
S TR
=74 S 0 0.00 0 0.00
sz MH| A =8
T -
A 0 0.00 0 0.00
ZHHeHA 0 0.00 0 0.01
KAt 2 AL 33 0.12 30 0.12
THOf | A 2 0.01 2 0.01
H E Xf A2 2| AF(ALEFRI X} 1 0.00 1 0.00
QUHIAFR T | S| A} 1 0.00 1 0.00
23 37 0.13 33 0.13
7| EpH| &+ 1 0.00 1 0.00
ChaOjof. S 42 1 0.00 1 0.00
A VY=
=) 0 0.00 0 0.00
MH| A =2
FTE
A 1 0.00 1 0.00
SHAEA 1 0.00 2 0.01
AL &AL 0 0.12 0 0.12
THOR S| A 0 0.16 0 0.16
HEX A 2 S| AHA EF IR} 0 0.00 0 0.00
LHEALR 22| 3| A 0 0.00 0 0.00
23 0 0.28 0 0.28
7| EFH| 2 ** 0 0.00 0 0.00
Cte=0jol. B2 =8 0 0.00 0 0.00
A EESTETer=
Ast MH|~ aaz 0 0.00 0 0.00
TTRE —
A 0 0.00 0 0.00
SHHHA 0 0.00 0 0.01

10




- M7 =&
T 2o H g 2o H g
KAt AL 0 0.08 0 0.12
EHOR 3| A 0 0.00 0 0.07
HE X AR 2| AH(AEFQI X} 0 0.00 0 0.00
UHEALR 22| 3| A 0 0.00 0 0.00
23 0 0.08 0 0.19
Cp-E 7| EtH|8** 0 0.00 0 0.00
ChaOfOf. B 448 0 0.00 0 0.00
A EESTETer=
=4 N 0 0.00 0 0.00
N MH| A =2
TTE
A 0 0.00 0 0.00
SHARAM 0 0.00 0 0.00
RHot2E AL 0 0.12 0 0.12
THOR 2| A 0 0.16 0 0.16
H £ X A2 2| AF(AEFRI R} 0 0.00 0 0.00
LHEALR 22| 3| A 0 0.00 0 0.00
28t 0 0.28 0 0.28
Cp2 7| EFH| &% 0 0.00 0 0.00
CHEOiO). S L2 0 0.00 0 0.00
S TR
SN o 0 0.00 0 0.00
N MH| A =8
TTE
SHA| 0 0.00 0 0.00
SHAM 0 0.00 0 0.01

*HEO| XS A ET il HIE

** J|EtH|80I2t S A HAIHE, T3 S| o5 X ZAH|IE S HEOM FYH -gEXHo2 XEE HE22 M Djof- S/ F+2E HAS AYULICH

EYNAEDZQIZNT} 7| 0.01 0.02 0.01 0.02

SHERERHZE] = 0.01 0.02 0.01 0.02
ZF(Class)d gt

7| 1.10 0.00 111 0.02

=5 1.10 0.00 111 0.02

c 7| 1.30 0.00 131 0.02

=% 1.30 0.00 131 0.02

o 7| 1.06 0.00 1.07 0.02

=% 1.06 0.00 1.07 0.02

W 7| 0.50 0.00 0.51 0.02

=% 0.50 0.00 0.51 0.02

. 7| 0.53 0.00 0.54 0.02

=% 0.53 0.00 0.54 0.02

& 7| 1.08 0.00 1.09 0.02

=% 1.09 0.00 1.10 0.02

ot 7| 0.70 0.00 0.70 0.02

=% 0.72 0.00 0.72 0.02

o2 7| 1.12 0.00 1.13 0.02

= 1.12 0.00 1.13 0.02

F1) L% -H| 8H|E(Total Expense Ratio)0|2t 2824 § HEOM RHOl=E 'E4'9f '7|EH| G SHS &AMt ALY (H4=-H|E XFH 7|
TR Lhx HIEZAM diE 287|¢ & FAAL £ & E4-HE5+ES LIEH-LICH

F2) Of- S +2 HS0[2 oo - S/ ++2E At FETH(ES-HE MHHH 71822 Lz HE2RM g 2872 & FAAIL £
o oiof- S22 =FS LIEFWLICH

F3) RAHO Z HHEO|M LS HIES AHHETE AHX[Shs HIZBUE QHEdt0] ehiket =X YL C.
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